Center Panel Support

ITEM 6

5 ETEM 7

e,

| a—ITEM 2

ITEM I
ITEM [0
ITEM9

o oS \\—ITEM 5

m T——T—mem 10

~ Ll ————1TEMU

IEX
N < %%
§ N
1TEM 12
PARTS LIST
Item No. Part Name Quantity

1 Support, Left 1
2 Support, Right 1
3 Brace 1
4 Hex Head Screw, 3/8—-16x1 1/4 1
5 Spring Lockwasher, 3/8 1
6 Washer, 3/8 1
7 Hex Nut, 3/8-16 1
9 Hex Head Screw, 5/16-18x1 7
10 Spring Lockwasher, 5/16 7
11 Washer, 5/16 7
12 Nut, Special 4

Rev. A 103403

© 2002 Hoffman Enclosures Inc.

Hofjman

A Pentair Company

Hoffman Enclosures Inc.
2100 Hoffman Way
Anoka, MN 55303-1745
(763) 422-2211 Tel
www.hoffmanonline.com

INSTALLATION INSTRUCTION:

Step 1. Attach right support (item 2)
to left support (item 1) as shown.
Fasten with three screws,
lockwashers, and washers (items
9,10,11).

Step 2. Attach brace (item 3) to top
of support assembly as shown.
Fasten with a screw, lockwasher,
washer, and nut (items 4,5,6,7).

Step 3. Install four clamping nuts
(item 12) in mounting channels
provided in top and bottom of a two—
door or two—door dual access
enclosure.

Step 4. Position center panel
support assembly between top and
bottom mounting channels in the
enclosure. Attach center panel
support assembly to mounting
channels as shown with four screws,
lockwashers, and washers (items
9,10,11). Loosen nut (item 7) to
adjust length of center panel support,
if required.

Step 5. Install regular panel,
swing—out panel, or relay rack
angles on left side of center panel
support. Slotted holes are provided
in brace (item 3) and bottom of left
support (item 1) to provide horizontal
adjustment if required.

Step 6. Install regular panel,
swing—out panel, or relay rack
angles on right side of center panel
support. Slotted holes are provided
in right support (item 2) to adjust
width of center panel support if
required.

P/N 99401641 87569063



